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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087013733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087054481. 1

71087054482. 2

71087054483. 3

71087054484. 4

Question Number : 1 Question Id : 71087013733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087054481. 1
71087054482, 2
71087054483. 3
71087054484, 4

Question Number : 2 Question Id : 71087013734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087054485. 1

71087054486. 2

71087054487. 3

71087054488. 4

Question Number : 2 Question Id : 71087013734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054485, 1
71087054486 2
71087054487. 3
71087054488. 4

Question Number : 3 Question Id : 71087013735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087054489. 1
71087054490. 2
71087054491. 3
71087054492. 4

Question Number : 3 Question Id : 71087013735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U UHTdl 218 S S G & deH H HafeRad # 9 fod it iR 4Rl & ey
AR Bl ST

E. JedidH AR Bisdd Jodl Bl
i< fgu 71U fodcal 7 © 91 STk &1 98 P ;

1. HAAA, B 3R C
2. @A B, C3RD
3. ®adB, CARE
4.HIAC, D ARE
Options :
71087054489. 1
71087054490. 2
71087054491. 3
71087054492, 4

Question Number : 4 Question Id : 71087013736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087054493. 1
71087054494, 2
71087054495. 3
71087054496. 4

Question Number : 4 Question Id : 71087013736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4.HaAC, D ARE
Options :
71087054493, 1
71087054494, 2
71087054495, 3
71087054496. 4

Question Number : 5 Question Id : 71087013737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087054497. 1
71087054498. 2
71087054499. 3
71087054500. 4

Question Number : 5 Question Id : 71087013737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087054497. 1
71087054498. 2
71087054499. 3
71087054500. 4

Question Number : 6 Question Id : 71087013738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087054501. 1
71087054502. 2
71087054503. 3
71087054504. 4

Question Number : 6 Question Id : 71087013738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054501. 1

71087054502. 2




71087054503. 3
71087054504. 4

Question Number : 7 Question Id : 71087013739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087054505. 1
71087054506. 2
71087054507 3
71087054508. 4

Question Number : 7 Question Id : 71087013739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054505 1
71087054506. 2
71087054507. 3
71087054508. 4



Question Number : 8 Question Id : 71087013740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087054509. 1
71087054510. 2
71087054511. 3
71087054512. 4

Question Number : 8 Question Id : 71087013740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054509. 1
71087054510. 2



71087054511. 3
71087054512. 4

Question Number : 9 Question Id : 71087013741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087054513. 1
71087054514. 2
71087054515. 3
71087054516. 4

Question Number : 9 Question Id : 71087013741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087054513, 1
71087054514. 2
71087054515, 3
71087054516. 4

Question Number : 10 Question Id : 71087013742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087054517. 1
71087054518. 2
71087054519. 3
71087054520. 4

Question Number : 10 Question Id : 71087013742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087054517. 1
71087054518. 2
71087054519. 3
71087054520 4

Sub-Section Number : 2
Sub-Section Id : 710870462
Question Shuffling Allowed : Yes

Question Id : 71087013743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087013744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087054521. 1

71087054522. 2

71087054523. 3

71087054524. 4

Question Number : 12 Question Id : 71087013745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087054525. 1



71087054526. 2
71087054527. 3
71087054528. 4

Question Number : 13 Question Id : 71087013746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087054529. 1

71087054530. 2

71087054531. 3

71087054532. 4

Question Number : 14 Question Id : 71087013747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087054533. 1

71087054534. 2

71087054535. 3

71087054536. 4



Question Number : 15 Question Id : 71087013748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087054537. 1

71087054538. 2

71087054539. 3

71087054540. 4

Question Id : 71087013743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087013744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054521 1

71087054522. 2

71087054523. 3

71087054524, 4

Question Number : 12 Question Id : 71087013745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U AH G :

A. TR @eldl

B. TS gt
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D. YHHYd® Eiig

el fdd e &1 98 DIfo :

1. Hdd A X B
2. ®Had B AR C
3. ®dd C 3R D
4. HadA AR D
Options :
71087054525. 1
71087054526. 2




71087054527. 3
71087054528. 4

Question Number : 13 Question Id : 71087013746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054529. 1

71087054530. 2

71087054531. 3

71087054532. 4

Question Number : 14 Question Id : 71087013747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054533. 1

71087054534, 2

71087054535, 3

71087054536 4




Question Number : 15 Question Id : 71087013748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hyhe [Py ad W aa e g 2
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Options :

71087054537. 1

71087054538. 2

71087054539. 3

71087054540. 4

Sub-Section Number : 3
Sub-Section Id : 710870463
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087013749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087054541. 1
71087054542. 2
71087054543. 3



71087054544. 4

Question Number : 16 Question Id : 71087013749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. THdeRIED Hidey
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4, 9gadigl Ufdey
Options :
71087054541. 1
71087054542. 2
71087054543, 3
71087054544, 4

Question Number : 17 Question Id : 71087013750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087054545. 1
71087054546. 2
71087054547 3
71087054548. 4

Question Number : 17 Question Id : 71087013750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. faRiemHTE faaR

B. HTH-THA

C. & H yaziH

D. giich fabra

. fee faodm

ol faded &1 994 B ;

1. HAAA, B 3R C
2. HAAA, CHRE
3. ®aAB, C3RD
4. HAAA, D ARE
Options :
71087054545, 1
71087054546. 2
71087054547, 3
71087054548. 4

Question Number : 18 Question Id : 71087013751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087054549. 1

71087054550. 2

71087054551. 3

71087054552. 4

Question Number : 18 Question Id : 71087013751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087054549. 1

71087054550. 2

71087054551. 3

71087054552. 4

Question Number : 19 Question Id : 71087013752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087054553. 1
71087054554. 2
71087054555. 3
71087054556. 4

Question Number : 19 Question Id : 71087013752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087054553. 1
71087054554. 2
71087054555. 3
71087054556. 4

Question Number : 20 Question Id : 71087013753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087054557. 1
71087054558. 2
71087054559. 3
71087054560. 4

Question Number : 20 Question Id : 71087013753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087054557. 1
71087054558. 2
71087054559, 3
71087054560. 4

Question Number : 21 Question Id : 71087013754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087054561. 1
71087054562. 2
71087054563. 3
71087054564. 4

Question Number : 21 Question Id : 71087013754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087054561. 1
71087054562. 2
71087054563. 3
71087054564 4

Question Number : 22 Question Id : 71087013755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087054565. 1
71087054566. 2
71087054567. 3
71087054568. 4

Question Number : 22 Question Id : 71087013755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087054565. 1
71087054566. 2
71087054567. 3
71087054568. 4



Question Number : 23 Question Id : 71087013756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087054569. 1
71087054570. 2
71087054571. 3
71087054572. 4

Question Number : 23 Question Id : 71087013756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087054569. 1
71087054570. 2



71087054571. 3
71087054572. 4

Question Number : 24 Question Id : 71087013757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087054573. 1
71087054574. 2
71087054575. 3
71087054576. 4

Question Number : 24 Question Id : 71087013757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087054573. 1
71087054574. 2
71087054575. 3
71087054576. 4

Question Number : 25 Question Id : 71087013758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087054577. 1
71087054578. 2
71087054579. 3
71087054580. 4

Question Number : 25 Question Id : 71087013758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087054577. 1



71087054578. 2
71087054579. 3
71087054580. 4

Question Number : 26 Question Id : 71087013759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087054581. 1
71087054582. 2
71087054583. 3
71087054584. 4

Question Number : 26 Question Id : 71087013759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087054581. 1
71087054582. 2
71087054583. 3
71087054584. 4

Question Number : 27 Question Id : 71087013760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087054585. 1



71087054586. 2
71087054587. 3
71087054588. 4

Question Number : 27 Question Id : 71087013760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087054585. 1
71087054586. 2
71087054587. 3
71087054588. 4

Question Number : 28 Question Id : 71087013761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087054589. 1
71087054590. 2
71087054591. 3
71087054592. 4

Question Number : 28 Question Id : 71087013761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. Had A 3R B
2. ®ad C 3R D
3. HAAE 3R F
4. HaAC IARE
Options :
71087054589. 1
71087054590. 2
71087054591 3
71087054592. 4

Question Number : 29 Question Id : 71087013762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087054593. 1
71087054594. 2
71087054595. 3
71087054596. 4

Question Number : 29 Question Id : 71087013762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087054593. 1
71087054594. 2
71087054595. 3
71087054596. 4

Question Number : 30 Question Id : 71087013763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087054597. 1
71087054598. 2
71087054599. 3
71087054600. 4

Question Number : 30 Question Id : 71087013763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087054597. 1
71087054598 2
71087054599. 3
71087054600. 4

Sub-Section Number : 4
Sub-Section Id : 710870464
Question Shuffling Allowed : Yes

Question Id : 71087013764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087013765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087054601. 1
71087054602. 2
71087054603. 3
71087054604. 4

Question Number : 32 Question Id : 71087013766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087054605. 1
71087054606. 2
71087054607. 3
71087054608. 4

Question Number : 33 Question Id : 71087013767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087054609. 1
71087054610. 2
71087054611. 3
71087054612. 4

Question Number : 34 Question Id : 71087013768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087054613. 1
71087054614. 2



71087054615. 3
71087054616. 4

Question Number : 35 Question Id : 71087013769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087054617. 1
71087054618. 2
71087054619. 3
71087054620. 4

Question Id : 71087013764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087013765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087054601. 1
71087054602. 2
71087054603. 3
71087054604 4

Question Number : 32 Question Id : 71087013766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087054605. 1
71087054606. 2



71087054607. 3
71087054608. 4

Question Number : 33 Question Id : 71087013767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087054609. 1
71087054610. 2
71087054611. 3
71087054612. 4

Question Number : 34 Question Id : 71087013768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087054613. 1
71087054614. 2
71087054615. 3
71087054616. 4



Question Number : 35 Question Id : 71087013769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087054617. 1
71087054618. 2
71087054619. 3
71087054620. 4

Sub-Section Number : 5
Sub-Section Id : 710870465
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087013770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087054621. 1

71087054622. 2

71087054623. 3

71087054624. 4



Question Number : 36 Question Id : 71087013770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087054621. 1

71087054622. 2

71087054623. 3

71087054624. 4

Question Number : 37 Question Id : 71087013771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087054625. 1
71087054626. 2
71087054627. 3
71087054628. 4

Question Number : 37 Question Id : 71087013771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087054625. 1
71087054626. 2
71087054627. 3
71087054628. 4

Question Number : 38 Question Id : 71087013772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087054629. 1
71087054630. 2
71087054631. 3
71087054632. 4

Question Number : 38 Question Id : 71087013772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. Had A 3R B
2. @A A AR C
3. ®ad D

4. Had A
Options :
71087054629. 1
71087054630. 2
71087054631. 3
71087054632. 4

Question Number : 39 Question Id : 71087013773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087054633. 1

71087054634. 2

71087054635. 3

71087054636. 4

Question Number : 39 Question Id : 71087013773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054633. 1

71087054634. 2

71087054635. 3

71087054636. 4

Question Number : 40 Question Id : 71087013774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087054637. 1
71087054638. 2
71087054639. 3
71087054640. 4

Question Number : 40 Question Id : 71087013774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Python’ T __ B
A. TR citder

B. ORI FoeA
C. 99 391

D. @®

el [ddcd &1 994 S -
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Options :

71087054637. 1
71087054638. 2
71087054639. 3
71087054640. 4

Question Number : 41 Question Id : 71087013775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087054641.
71087054642.
71087054643.
71087054644.

AW O~

Question Number : 41 Question Id : 71087013775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FHM H Bl SRS & dld Scvi- & YR TR JA8IGRN & Jal Adile! HH &I UgaH
B ;

A. HIdT
B. U@l

C. RT
D. 33! SHR®T

i< fgu 71U fodcal 7 © 91 STk &1 98 P ;

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087054641.
71087054642.
71087054643.
71087054644.

AW O~

Question Number : 42 Question Id : 71087013776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087054645. 1

71087054646. 2

71087054647. 3

71087054648. 4

Question Number : 42 Question Id : 71087013776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054645. 1
71087054646. 2
71087054647. 3
71087054648. 4

Question Number : 43 Question Id : 71087013777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087054649. 1
71087054650. 2
71087054651. 3
71087054652. 4

Question Number : 43 Question Id : 71087013777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087054649. 1
71087054650. 2
71087054651. 3
71087054652. 4

Question Number : 44 Question Id : 71087013778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087054653. 1
71087054654. 2
71087054655. 3
71087054656. 4

Question Number : 44 Question Id : 71087013778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087054653. 1
71087054654. 2
71087054655. 3
71087054656. 4

Question Number : 45 Question Id : 71087013779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087054657. 1

71087054658. 2

71087054659. 3

71087054660. 4

Question Number : 45 Question Id : 71087013779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054657. 1

71087054658. 2

71087054659. 3

71087054660. 4

Question Number : 46 Question Id : 71087013780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087054661. 1
71087054662. 2
71087054663. 3
71087054664. 4



Question Number : 46 Question Id : 71087013780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980
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1985
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Options :
71087054661. 1
71087054662. 2
71087054663. 3
71087054664. 4
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Question Number : 47 Question Id : 71087013781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087054665. 1
71087054666. 2
71087054667. 3
71087054668. 4

Question Number : 47 Question Id : 71087013781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087054665 1
71087054666. 2
71087054667. 3
71087054668. 4

Question Number : 48 Question Id : 71087013782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087054669. 1
71087054670. 2
71087054671. 3
71087054672. 4

Question Number : 48 Question Id : 71087013782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087054669. 1
71087054670. 2
71087054671. 3
71087054672. 4

Question Number : 49 Question Id : 71087013783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087054673. 1

71087054674. 2

71087054675. 3

71087054676. 4

Question Number : 49 Question Id : 71087013783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054673. 1
71087054674. 2
71087054675. 3
71087054676. 4

Question Number : 50 Question Id : 71087013784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087054677. 1
71087054678. 2
71087054679. 3
71087054680. 4

Question Number : 50 Question Id : 71087013784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087054677. 1
71087054678. 2
71087054679. 3
71087054680. 4

PART II Sindhi
Section Id : 710870292
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870466
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087013785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054681. 1
71087054682. 2
71087054683. 3
71087054684. 4

Question Number : 51 Question Id : 71087013785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054681. 1
71087054682. 2
71087054683. 3
71087054684. 4

Question Number : 52 Question Id : 71087013786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054685. 1
71087054686. 2
71087054687. 3
71087054688. 4

Question Number : 52 Question Id : 71087013786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054685. 1
71087054686. 2
71087054687. 3
71087054688. 4

Question Number : 53 Question Id : 71087013787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054689. 1
71087054690. 2
71087054691. 3
71087054692. 4

Question Number : 53 Question Id : 71087013787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Options :

71087054689. 1
71087054690. 2
71087054691. 3
71087054692. 4

Question Number : 54 Question Id : 71087013788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054693. 1
71087054694. 2
71087054695. 3



71087054696. 4

Question Number : 54 Question Id : 71087013788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054693. 1
71087054694. 2
71087054695. 3
71087054696. 4

Question Number : 55 Question Id : 71087013789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054697. 1
71087054698. 2
71087054699. 3
71087054700. 4

Question Number : 55 Question Id : 71087013789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

71087054697. 1
71087054698. 2
71087054699. 3
71087054700. 4

Question Number : 56 Question Id : 71087013790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054701. 1
71087054702. 2
71087054703. 3
71087054704. 4

Question Number : 56 Question Id : 71087013790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087054701. 1
71087054702. 2
71087054703. 3
71087054704. 4

Question Number : 57 Question Id : 71087013791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054705. 1
71087054706. 2
71087054707. 3
71087054708. 4

Question Number : 57 Question Id : 71087013791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054705. 1
71087054706. 2
71087054707. 3
71087054708. 4

Question Number : 58 Question Id : 71087013792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054709. 1
71087054710. 2
71087054711. 3
71087054712. 4

Question Number : 58 Question Id : 71087013792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054709. 1
71087054710. 2
71087054711. 3
71087054712. 4

Question Number : 59 Question Id : 71087013793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054713. 1
71087054714. 2
71087054715. 3
71087054716. 4

Question Number : 59 Question Id : 71087013793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it

. o W N = W) omie
s e e L:,dL“J:h s_.;l.,q._vl‘j.ﬂuk_.:.. L:__--FI\-J*\

L—
L LS sl (2) >l bl (1)
2 ey (4) Jake __fd..‘;«u (3)
Options :

71087054713. 1
71087054714. 2
71087054715. 3
71087054716. 4

Question Number : 60 Question Id : 71087013794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) =% amed e (2) T 7@
(3)  TEEEE = (4) T TR T WS
Options :

71087054717. 1
71087054718. 2
71087054719. 3
71087054720. 4

Question Number : 60 Question Id : 71087013794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054717. 1
71087054718. 2
71087054719. 3
71087054720. 4

Question Number : 61 Question Id : 71087013795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) G (2) 9
(3) 1 (4) 10
Options :

71087054721. 1
71087054722. 2
71087054723. 3
71087054724. 4

Question Number : 61 Question Id : 71087013795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—_

: L,;Ht ! l-:—‘.!-t- l_:u. .__:'JHJE u{.:_‘r_a La
9 (2) 6" (1)
10 (4) T (3)



Options :

71087054721. 1
71087054722. 2
71087054723. 3
71087054724. 4

Question Number : 62 Question Id : 71087013796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 1843 (2) 1947
(3) 1853 (4) 1833
Options :

71087054725. 1
71087054726. 2
71087054727. 3
71087054728. 4

Question Number : 62 Question Id : 71087013796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1947 (2) = 1843 (1)
1833 (&) 1853  (3)
Options :

71087054725. 1
71087054726. 2
71087054727. 3
71087054728. 4



Question Number : 63 Question Id : 71087013797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘I IS q9El A8 -

(1)  Z=1 Ereem (2) T 2l
(3) gdle] 3T (4) BIEEERER
Options :

71087054729. 1
71087054730. 2
71087054731. 3
71087054732. 4

Question Number : 63 Question Id : 71087013797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e
x|

.h___d_"'-'#_ i ___E-H—"J ‘hz
| T o B | 1
) = C (2 dala qv-:
g e (S 9 L) < R (L)
¥
bo 3 aubenlg (4) L3 JLa (3)

Options :

71087054729. 1
71087054730. 2
71087054731. 3
71087054732. 4

Question Number : 64 Question Id : 71087013798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR A5 FAg AfASid T0 71 WE AE = Kl fva g4l

(1) E[E: (2) T2
(3) == (4 T3 @

Options :

71087054733. 1
71087054734. 2
71087054735. 3
71087054736. 4

Question Number : 64 Question Id : 71087013798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a e - L = 1 . =k = .
m AT - Lo M 0 51 P gl ally v laz, o8l ) | I
& _,;L.'.‘h_ _."L-‘“'-\J 2 — H__,Lq.-» ..__..._,__.2. Ll\-\ _:_‘_:h "-_-_:“"..-' 3 c"'-_-_.-‘-"'_.aJ-' ,-;_.:J_,\\. b-j\-:-h" |.-l.q.--
.""._ . & P
o (2) il (1)
¥ L
g 1A = (4) o (3)
3 E L o

Options :

71087054733. 1
71087054734. 2
71087054735. 3
71087054736. 4

Question Number : 65 Question Id : 71087013799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

.rqr”.l Iq _-I._:- =) '-I I?‘zi. "I E-i:.—”'\:ﬂ _J-iT ':- ':l-;’-_,l :'_'I:FE_%.- H
(1) 4. @ == (2)  FomAE
(3) & IEE A= (4)  TIER AT



Options :

71087054737. 1
71087054738. 2
71087054739. 3
71087054740. 4

Question Number : 65 Question Id : 71087013799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—
il "l - ] ~ & Y fu K -
®, — - | — w N FOREE T 5
c;.._l _:'\-._:__ e c';_f-l_‘:_ ..»:_,,"\;‘-J_!":_" h_,"E-"""—-'r-" it

bt it
ih s = (2 B _ (
\;'l'-. L = (2) AU ot (1)
0 N -1 : 0T e T Y (5
Options :

71087054737. 1
71087054738. 2
71087054739. 3
71087054740. 4

Question Number : 66 Question Id : 71087013800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) == (2)  wEEAR S ASE
(3)  HEAT (4)  FE TUE
Options :

71087054741. 1
71087054742. 2
71087054743. 3



71087054744. 4

Question Number : 66 Question Id : 71087013800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. A . 3
T s S gt S e B
R T R B I (2) =i (1)
- . S O
- i B > "

Options :

71087054741. 1
71087054742. 2
71087054743. 3
71087054744. 4

Question Number : 67 Question Id : 71087013801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  Far=1 § 3etvs (2) g
(3)  Fmwm (4) FIHN
Options :

71087054745. 1
71087054746. 2
71087054747. 3
71087054748. 4

Question Number : 67 Question Id : 71087013801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

g
x|

1._E.»--_ JL:\_i—“ J:-' by U{.‘\}.ﬁ.a _rh u’n..b. _,.3":'- : 4 hs..a LJ.-..H | ENG T |
jeabow @) Jelhdl e laess
g S (4) NS Sl (3)

Options :

71087054745. 1
71087054746. 2
71087054747. 3
71087054748. 4

Question Number : 68 Question Id : 71087013802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) T e (2)  Tord FEF
(3) 1. gA=a Hzam (4)  =1EW fgami
Options :

71087054749. 1
71087054750. 2
71087054751. 3
71087054752. 4

Question Number : 68 Question Id : 71087013802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| - "
h_:.:-.' C'J.H (2) E:E..L.p a2 ML (1)
el &l e (4) Ny andds S8 (3)
u{' = _J"- £ | o
Options :

71087054749. 1
71087054750. 2
71087054751. 3
71087054752. 4

Question Number : 69 Question Id : 71087013803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“IE W TR 0 W IR e 9% aterers (9 atE T g e

(1) 93 W3 FE A MR = Fear
(2) 93 WE FEE A @i

(4) PR H1 §aH - i
Options :
71087054753. 1
71087054754. 2
71087054755. 3
71087054756. 4

Question Number : 69 Question Id : 71087013803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Options :

71087054753. 1
71087054754. 2
71087054755. 3
71087054756. 4

Question Number : 70 Question Id : 71087013804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I:..:.- -ﬁ .,_EHT::_ Eh' : l:-.u . I‘I-~ ,

(1) o e e (2) 2N, TSI
(3) =1 = T (4) o=t =l =sm
Options :

71087054757. 1
71087054758. 2
71087054759. 3
71087054760. 4

Question Number : 70 Question Id : 71087013804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

L& e P RES (2) 293 oUW (1)
ey mmadd 13 (4) e e (3)
Nl e - w4 J
Options :

71087054757. 1
71087054758. 2
71087054759. 3
71087054760. 4

Question Number : 71 Question Id : 71087013805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g 4 FEmf <t o I o -

(1) 1554 2. (2) 1533 3.
(3) 1696 3, (4) 1754 3,
Options :

71087054761. 1
71087054762. 2
71087054763. 3
71087054764. 4

Question Number : 71 Question Id : 71087013805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-l e i
& 1533 (2) &~ 1554 (1)
L L
¢ 17h4 (4) < 1696 (3)
|- | —
Options :

71087054761. 1
71087054762. 2
71087054763. 3
71087054764. 4

Question Number : 72 Question Id : 71087013806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) g7 (2)  =@m@ER
(3) =l (4)  ==Fon
Options :

71087054765. 1
71087054766. 2
71087054767. 3
71087054768. 4

Question Number : 72 Question Id : 71087013806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HE{JT_ ...f.'—- _E,.'\_,"—""' ..,I.:Ht-rr-a
~t 5 .
-
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=0 ( | = B

=y (4) = (3)
Options :

71087054765. 1
71087054766. 2
71087054767. 3
71087054768. 4

Question Number : 73 Question Id : 71087013807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEAMT Tag 51 JE fafEme R -

(1) TG Eres ST (2) T T
(3) ™= IHmA (4) oA T
Options :

71087054769. 1
71087054770. 2
71087054771. 3
71087054772. 4

Question Number : 73 Question Id : 71087013807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



s o
S @ s [ S L
Sl o= (2) 59 Ao s e (1)
el sl i4) {.:-L,q_‘a. i (3)

Options :

71087054769. 1
71087054770. 2
71087054771. 3
71087054772. 4

Question Number : 74 Question Id : 71087013808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) == =F (2) A= 7
(3) I WEEA (4) %O HEEE SAEAT
Options :

71087054773. 1
71087054774. 2
71087054775. 3
71087054776. 4

Question Number : 74 Question Id : 71087013808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



—_
.| =
& .

., l e v gl - |
{-h— h.:;\-.. I—-—I"l_- | —_— IL.-_-:_-_._'_,J_-.-..--L _MJQ\-—-&-
o - - Lo .
‘_:lj_:l ._.L._;_j..._:'__,g I"-';':'-'-- ‘I‘]::I Iu-n-\f-:‘- -L- ra "I--':"l {S:I
- P =) . Bt £l oo L' "

Options :

71087054773. 1
71087054774. 2
71087054775. 3
71087054776. 4

Question Number : 75 Question Id : 71087013809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

|.'i'.1 = -I'-'lr f'-:.,: _;q_li_-!

(1) NI 7AH (2) FEH HEAI
(3)  Toerae @@g (4) = feenin
Options :

71087054777. 1
71087054778. 2
71087054779. 3
71087054780. 4

Question Number : 75 Question Id : 71087013809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1..5*‘_ — bl
C;IL{."J_LH by 9 (2) abos ok (1)
- - - - e -
Jou S g (4) s AR (3)
Options :

71087054777. 1
71087054778. 2
71087054779. 3
71087054780. 4

Question Number : 76 Question Id : 71087013810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A e e e [ R T e p o e A

(1) el 37 T2 (2) it Fefta =
(3) BRI (4) T T
Options :

71087054781. 1
71087054782. 2
71087054783. 3
71087054784. 4

Question Number : 76 Question Id : 71087013810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Le L i
h_-q:-._ )8 l} - (2) '......A.?"_Il JL-' ,__EJLIJL.J (1)
e 8l (4) el 330 (3)

Options :

71087054781. 1
71087054782. 2
71087054783. 3
71087054784. 4

Question Number : 77 Question Id : 71087013811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  gm=E giafd (2)  gHEA o A FHEA
(3)  UAHLbdLTE T (4)  FiEtEd miw FHme
Options :

71087054785. 1
71087054786. 2
71087054787. 3
71087054788. 4

Question Number : 77 Question Id : 71087013811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



s . e . ot " o -
» Il X oy Lo ly+7 o Ay
- i B ;- ) A {2 ey N oAy |
— E -} A | (4] o) el 2 “l:.;m.d Iy
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Options :

71087054785. 1
71087054786. 2
71087054787. 3
71087054788. 4

Question Number : 78 Question Id : 71087013812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T i (A3 TR A Feag B 8 -

(1) 1836 3, (2) 10473,
(3) 1742 3. (4) 1936 2.
Options :

71087054789. 1
71087054790. 2
71087054791. 3
71087054792 4

Question Number : 78 Question Id : 71087013812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



& 1947 (2) &« 1836 (1)
L — | -
¢ 1936 (4) e 1742 (3)
- | -

Options :

71087054789. 1
71087054790. 2
71087054791. 3
71087054792. 4

Question Number : 79 Question Id : 71087013813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  mif=g 9ed (2) T g
(3)  ==0d gEEd (4) T
Options :

71087054793. 1
71087054794. 2
71087054795. 3
71087054796. 4

Question Number : 79 Question Id : 71087013813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087054793. 1
71087054794. 2
71087054795. 3
71087054796. 4

Question Number : 80 Question Id : 71087013814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 711 2. =7 953 2, (2) 11333 =i 1543 3,
(3) 1350 2. @i 1520 3. (4) 1050 2. @1 1350 =.
Options :

71087054797. 1
71087054798. 2
71087054799. 3
71087054800. 4

Question Number : 80 Question Id : 71087013814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1543 O ¢ 1133 (2) £953 QU ¢ 711 (1)
| — | — |- | -
£1350 O ¢ 1050 (4) 15620 QL ¢ 1350 (3)
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Options :

71087054797. 1
71087054798. 2
71087054799. 3
71087054800. 4

Question Number : 81 Question Id : 71087013815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 1053 3, (2) 043 3.
(3) 1026 3. (4) 712 =
Options :

71087054801. 1
71087054802. 2
71087054803. 3
71087054804. 4

Question Number : 81 Question Id : 71087013815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= 3 ] v . .

& 943 (2) e 1063 (1)
e L
& T12 (4) ¢ 1026 (3)
| — | —

Options :

71087054801. 1

71087054802. 2

71087054803. 3

71087054804. 4

Question Number : 82 Question Id : 71087013816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"1t famer meer Feriis § daEEs @ W e A

(1) EETI (2) L GIRUE!
(3 ERELIG (4) FIE AT
Options :

71087054805. 1
71087054806. 2
71087054807. 3
71087054808. 4

Question Number : 82 Question Id : 71087013816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



':_'lJ"l'_," {'Ej jLﬁi‘-—"—‘hlJ *1:'
Gl i (4) gl o el (3

Options :

71087054805. 1
71087054806. 2
71087054807. 3
71087054808. 4

Question Number : 83 Question Id : 71087013817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o1 T e FAErS 2EUEE 1 T2 a9 ¢

(1) 1743 (2) 1833
(3) 1768 (4) 715
Options :

71087054809. 1
71087054810. 2
71087054811. 3
71087054812. 4

Question Number : 83 Question Id : 71087013817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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SO T W) i el s A2
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1833 (2) 1743 (1)
715 (4) 1768 (3)
Options :
71087054809. 1
71087054810. 2

71087054811. 3
71087054812. 4

Question Number : 84 Question Id : 71087013818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a0 AGE FlEs] Taqd g7

(1) R (2) qHH
(3) O (4 T4
Options :

71087054813. 1
71087054814. 2
71087054815. 3
71087054816. 4

Question Number : 84 Question Id : 71087013818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



\—-'_{L:_u'-‘ll ) —— \':\-u Jh-\JJLA-u
. (2) . (1)
o (4) | - (3)

Options :

71087054813. 1
71087054814. 2
71087054815. 3
71087054816. 4

Question Number : 85 Question Id : 71087013819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WA 1 FR T g T Fies! diei= 6 ¢

(1) U (2) ATES ITH
(3) e (4)  fadh
Options :

71087054817. 1
71087054818. 2
71087054819. 3
71087054820. 4

Question Number : 85 Question Id : 71087013819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



? 5 - g L A .__._'-' a -
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Options :

71087054817. 1
71087054818. 2
71087054819. 3
71087054820. 4

Question Number : 86 Question Id : 71087013820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o BOE o G =1 Tl 2@

(1) T wegerEh (2) LEIE R
(3) 9 =E (4)  TEH A=A
Options :

71087054821. 1
71087054822. 2
71087054823. 3
71087054824. 4

Question Number : 86 Question Id : 71087013820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S e (2) el e Ol (1)
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Options :

71087054821. 1
71087054822. 2
71087054823. 3
71087054824. 4

Question Number : 87 Question Id : 71087013821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Iﬁ?ﬁ? et fas i =l i o Oalid | mﬁ ";..ll_ﬁ-."-r

(1) o= oo (2) s @ea
(3) iﬂ'ﬂl‘r{ el e (4) ATeTas SHTSHe T
Options :

71087054825. 1
71087054826. 2
71087054827. 3
71087054828. 4

Question Number : 87 Question Id : 71087013821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Options :

71087054825. 1
71087054826. 2
71087054827. 3
71087054828. 4

Question Number : 88 Question Id : 71087013822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) fok =i (7 E‘ITF'T
(3) =W (4) IEREE!
Options :

71087054829. 1
71087054830. 2
71087054831. 3
71087054832. 4

Question Number : 88 Question Id : 71087013822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



[ 4=

ol (2) O St (1)

P 7. (4) ;e (3)
Options :

71087054829. 1
71087054830. 2
71087054831. 3
71087054832. 4

Question Number : 89 Question Id : 71087013823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hieg - ol maEdt w2 3 227

(1) 1961 2. (2) 19363
(3) 10473 (4) 1853332
Options :

71087054833. 1
71087054834. 2
71087054835. 3
71087054836. 4

Question Number : 89 Question Id : 71087013823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



& 1936 (2) & 1961 (1)
o o
¢ 1853 (4) ¢ 1947 (3)
e L

Options :

71087054833. 1
71087054834. 2
71087054835. 3
71087054836. 4

Question Number : 90 Question Id : 71087013824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fegeTH Sl AR TiefEl SF BT T o

(1) 1795 <. (2) 1841 3.
(3) 1033 3. (4) 1947 3.
Options :

71087054837. 1
71087054838. 2
71087054839. 3
71087054840. 4

Question Number : 90 Question Id : 71087013824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



L]

¢ 1841 (2) c 1795 (1)
- | -
< 1947 (4) & 1933 (3)
— |-

Options :

71087054837. 1
71087054838. 2
71087054839. 3
71087054840. 4

Question Number : 91 Question Id : 71087013825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT AT -
(A)  HiEd Fow
(B)  Tifag mred
(C)  am=a fada
(D) 374 WE

(1) {A) and (B) (2) (A) and (C)
(3 (C) and (D) (4) (A) and (D)
Options :

71087054841. 1
71087054842. 2
71087054843. 3
71087054844. 4

Question Number : 91 Question Id : 71087013825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Al A e (B)

S il g (C)

Y S L %)

(A) and (C) (2) (A) and (B) (1)
{A) and (D) i(4) (C) and (D) (3)

Options :

71087054841. 1
71087054842. 2
71087054843. 3
71087054844. 4

Question Number : 92 Question Id : 71087013826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A TR EX
(B) = femumii
(C) =+

(D) TgTH

(1) (B) and (C) (2) (A) and (B)

(3) (A) and (D) (4) (C) and (D)
Options :

71087054845. 1



71087054846. 2
71087054847. 3
71087054848. 4

Question Number : 92 Question Id : 71087013826 Question Type : MCQ Option Shuffling
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

[ [ f A -
S GO St ] (A)
A i L
x| : — 1
U{Jﬂ- J \._.JHJ—- ‘{__r]
Lé_f o (D)
{A) and (B) (2) (B) and (C) (1)
(C) and (D) (4) (A) and (T (3)

Options :

71087054845. 1
71087054846. 2
71087054847. 3
71087054848. 4

Question Number : 93 Question Id : 71087013827 Question Type : MCQ Option Shuffling
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: No Display Question Number : Yes Is

: No Display Question Number : Yes Is



(A) W = R
(B) 23 A1
(C)  i=! HewE G gl |
(D) =r=T 3! Hht fagE!
(1)  (A)and (C) (2) (A and (B)
(3) (C) and (D) (4) (B) and (D)
Options :
71087054849. 1
71087054850. 2

71087054851. 3
71087054852. 4

Question Number : 93 Question Id : 71087013827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

_
11 gre

- | e |45 s

(o ] -

el e s 0L @)

flayy pisS e B

| o e J’"Ll"l"'“ ! ol (C)

|9 =5 1S5 1ied O

(A) and (B) (2) “ (A) and (C) (1)
(B) and (D) (4) (C) and (D) (3)

Options :
71087054849. 1
71087054850. 2



71087054851. 3
71087054852. 4

Question Number : 94 Question Id : 71087013828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(&) AT
(B)  Tememan

(C)  wirEe

(D) o

(1) (B) and (D) (2) (A) and (B)

(3) (C) and (D) (4) {A) and (C)
Options :

71087054853. 1
71087054854. 2
71087054855. 3
71087054856. 4

Question Number : 94 Question Id : 71087013828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



—Sn (O

=333 (D)

{A) and (B) (2) (B) and (D) (1)
(4) and (C) (4) (C) and (D) (3)

Options :

71087054853. 1
71087054854. 2
71087054855. 3
71087054856. 4

Question Number : 95 Question Id : 71087013829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(4) gz 9r
(B)  TiHZ ST
(C) U= Tahedl

(D) 7E 99
(1) {A) and (B) {2) {A) and (C)
(3) (B) and (D) (4) (C) and (D)

Options :



71087054857. 1
71087054858. 2
71087054859. 3
71087054860. 4

Question Number : 95 Question Id : 71087013829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—

ol =5l sz ‘_."l w3 L3 LI,
b . Py - s
. -
b | L PGP (B)
- R
o~ _ = '__l 1
L:?Jh"—.:-{—-'\-:_-'-\p JF:"- l{:]

Sl el (D)

{A) and (C) (2) (A) and (B) (1)
(C) and (D) (4) (B) and (D) (3)
Options :

71087054857. 1
71087054858. 2
71087054859. 3
71087054860. 4

Question Number : 96 Question Id : 71087013830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o Y

o<t fawm & amen deim = gy anfel -

(A)  wEE
(B) A
(Cy T=:
(D) FEE
(1) (A) and (D) (2) (B) and (C)
(3) (A) and (C) (4) (B) and (D)

Options :

71087054861. 1
71087054862. 2
71087054863. 3
71087054864. 4

Question Number : 96 Question Id : 71087013830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-

L —F ST wada ) el wndls el

;_y:-‘_-l (A)

.,_:l,_f_;__*_ (B)

e (C)

jeml > (D)

(B) and (C) (2) (A) and (D) (1)
(B) and (D) (4) {A) and (C) (3)

Options :



71087054861. 1
71087054862. 2
71087054863. 3
71087054864. 4

Question Number : 97 Question Id : 71087013831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A)  TF T T T FE AR |
(B) =i Tl It A FE AR |

(1) (A) TE (B) | (2) (A) Tt (B) oA
(3) (A) T4 (B) w&T (4) (A) T (B) e
Options :

71087054865. 1
71087054866. 2
71087054867. 3
71087054868. 4

Question Number : 97 Question Id : 71087013831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

{_..'!ll p- s L’Il i) c_',-_- A v B, iB)
= & T - =
Lié B) —oewo(A) (2) wine o (B musiailA) (1)
Ll (B) s (A) (4) e (B) 20< (A) (3)
L -

Options :
71087054865. 1
71087054866. 2



71087054867. 3
71087054868. 4

Question Number : 98 Question Id : 71087013832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

mTteea SRTSHI TS faferd e
(A) =1, r:I':FI--:"."] 2T |
(B) =1, TaUFT T

(1) (A =& (B) Teq (2) (A = (B) T
(3)  (A)7T=Id (B) e (4 (A 7eE (B)

Options :

71087054869. 1
71087054870. 2
71087054871. 3
71087054872. 4

Question Number : 98 Question Id : 71087013832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
» |

I IS U PR YO 1 IOt G | BPO 8
= i A ™ b
1 CIRUTE | PR L I

L=

L e e = - e . oy i, (YN
e (B) = 2o (A) (2) 2lé (B) =22 (A) (1)
=2 (B) 24< (A) (4) 2 (B) e (4) (3)

|-
Options :
71087054869. 1



71087054870. 2
71087054871. 3
71087054872. 4

Question Number : 99 Question Id : 71087013833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A)  wwE-Tadt fodisn =1 fafear s oon g 41 )
(B) sl -t frdist =0 fafea evan g9 491

(1) (A) @@l (B) e (2) (A) ==t (B) =&
(3) (A) 77 (B) T&T (4) (A) T4 (B) TTed

Options :

71087054873. 1
71087054874. 2
71087054875. 3
71087054876. 4

Question Number : 99 Question Id : 71087013833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

52 35 ) S e NI e s Ear (Shm 22 A

_,.L’i— J;F.ac "'I'_,,';' JL;.HJH _{;‘-I- = {..;_I l___f_-:-.-'l..;m_ f.'_,"'; {B]

e i, 5 TR seime s (A (2) Lld B) moeo(l) (1)
Lié (B) Lié @) (4) = (B) Lld (A) (3)

Options :

71087054873. 1
71087054874. 2
71087054875. 3



71087054876. 4

Question Number : 100 Question Id : 71087013834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T AT =1 G hgE AEE -
(A Wﬁ HZH

(B) & ZF%

(C) AT g

(D) A=A Aami

(1) (A) and (D) (2) {A) and (C)
(3) (A) and (B) (4) (B) and (D)
Options :

71087054877. 1
71087054878. 2
71087054879. 3
71087054880. 4

Question Number : 100 Question Id : 71087013834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i

I‘:-:EJ\-'~-_-ﬂ_--"‘_-l- ) l-"-_ﬁ_- d;\u-'!\-'l ‘,a.%]
=5 3,8 (B)
. " [ | . .
\_E' |_,:_,r_:_h o= \_..-‘-—"H {{;]

T s S
s |J.-_~J.;:3-. J 4o (D)
{A) and (C) (2) (A) and (D) (1)
(B) and (D) (4) (A) and (B) (3)

Options :

71087054877. 1
71087054878. 2
71087054879. 3
71087054880. 4

Question Number : 101 Question Id : 71087013835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) F230c TETH
(B)  @elag AEfsAmd

(C) aeldd
(D) ol
(1) (A) and (C) (2) {A) and (D)
(3) {A) and (B) (4) (B) and (C)

Options :
71087054881. 1



71087054882. 2
71087054883. 3
71087054884. 4

Question Number : 101 Question Id : 71087013835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

|

U
pl oy i (A)
Josd ol adY  (B)
Sadd (O

e (D)

3 L---'l-L‘—'hk.._Jll'_‘-h -
P =Pl s gl =

{A) and (D) (2) (A) and (C) (1)
(B) and (C) (4) (A) and (B) (3)
Options :

71087054881. 1
71087054882. 2
71087054883. 3
71087054884. 4

Question Number : 102 Question Id : 71087013836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



efier 5 9 IoamTS 7 AR -

(A) g |

(B)  Teermgd

(C) =i

(D)  FEEmE

(1) (A) and (C) (2) (B) and (D)
(3) (C) and (D) (4) (D) and (A)

Options :

71087054885. 1
71087054886. 2
71087054887. 3
71087054888. 4

Question Number : 102 Question Id : 71087013836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

{.?-;“— (C)

Sbhas D)

(B) and (D) (2) (A) and (C) (1)
(D) and (A) (4) (C) and (D) (3)

Options :
71087054885. 1



71087054886. 2
71087054887. 3
71087054888. 4

Question Number : 103 Question Id : 71087013837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

M2 Jesla =1 F AT 308 -
(A oz iFE

(B)  wrddi

(Cy =9

(D) oY

(1) (A) and (C) (2) (B) and (C)

(3) (A) and (D) (4) (B) and (D)
Options :

71087054889. 1
71087054890. 2
71087054891. 3
71087054892. 4

Question Number : 103 Question Id : 71087013837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



n.-..,_:':l_._ e et (A)

e (B)
_J.-_:—_w (C)
_,.-_...,.-T (D)
(B) and (C) (2) (A) and (C) (1)
(B) and (D) (4) (A) and (D) (3)

Options :

71087054889. 1
71087054890. 2
71087054891. 3
71087054892. 4

Question Number : 104 Question Id : 71087013838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

il AATEEe o FEMEE A T AR

(A =0
(B) @494
(C) G|

(D) = E A

(1) {A) and (B) (2) (B) and (C)
(3) (A) and (I)) (4) (C) and (D)

Options :
71087054893. 1



71087054894. 2
71087054895. 3
71087054896. 4

Question Number : 104 Question Id : 71087013838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—_

Pllsm b ph= o il ga

"'.-Sa:—:-...- (A)

H_,u,_ (B)

&y (©)

o gl O

(B) and (C) (2) (A) and (B) (1)
(C) and (D) (4) (A) and (D) (3)

Options :

71087054893. 1
71087054894. 2
71087054895. 3
71087054896. 4

Question Number : 105 Question Id : 71087013839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T A 2 -
(A) ATAMHEE

(B) TFE

(C) A

(D) =S

(1) (A) and (B) (2) (A} and (C)
(3) (C) and (D) (4) (B} and (C)

Options :

71087054897. 1
71087054898. 2
71087054899. 3
71087054900. 4

Question Number : 105 Question Id : 71087013839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ol odad  (A)

T

wa gyl (O

Fezil (D)

(A) and (C) (2) (A) and (B) (1)
(B) and (C) (4) (C) and (D) (3

Options :
71087054897. 1
71087054898. 2



71087054899. 3
71087054900. 4

Question Number : 106 Question Id : 71087013840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A)  Teadlg
(B)  Ta=aria am

.

(C) HHET

(D) TEAHE

(1) (A) and (B) {(2) (B) and (C)
(3) (A) and (D) (4) (C) and (I)

Options :

71087054901. 1
71087054902. 2
71087054903. 3
71087054904. 4

Question Number : 106 Question Id : 71087013840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



w_-r i, (&)
3y | 9 ':;J;E&j (B)
A (C)

(B) and (C) (2) (A) and (B) (1)
(C) and (D) (4) (A) and (D) (3)

Options :

71087054901. 1
71087054902. 2
71087054903. 3
71087054904. 4

Question Number : 107 Question Id : 71087013841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) T FA>TEH

(B) =

(C)  =@F Fums

=

(D) e
(1) (A) and (B) () {A) and (C)
(3) {B) and (C) id) (A) and (D)

Options :
71087054905. 1



71087054906. 2
71087054907. 3
71087054908. 4

Question Number : 107 Question Id : 71087013841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Dbl (6 (A)
&=
Vi th == o3 (C)
»hsl D)
{A) and (C) (2) (A) and (B) (1)
(A) and (D) i(4) (B} and (C) (3)

Options :

71087054905. 1
71087054906. 2
71087054907. 3
71087054908. 4

Question Number : 108 Question Id : 71087013842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&) of e 3

(B) 1 FeA

(C)  @=a fafuy fasifeg
(D) = =t T

(1) (A) and (D) (2) (A) and (C)
(3) (B) and (C) (4) (A) and (B)
Options :

71087054909. 1
71087054910. 2
71087054911. 3
71087054912. 4

Question Number : 108 Question Id : 71087013842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B

Ih-?"— L;' Ci™ L_-:-.__ _'H;.. s
et e el
S (&0 ol @)
T (B)
Jj-;—ﬁ-j‘ Q;-éi LRty (C)
e e g SAL (D)
(A) and (C) (2) (A) and (D) (1)

(A) and (B) (4) (B) and (C) (3)



Options :

71087054909. 1
71087054910. 2
71087054911. 3
71087054912. 4

Question Number : 109 Question Id : 71087013843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=

‘2 WISt FEOE | FaEE AR

(A)  Tifaga = FE

(B) BIE]]

(C)  Tamparfoar am

(D) e

(1) (A) and (B) (2) {A) and (D)
(3) (A) and (C) (4) (B) and (C)

Options :

71087054913. 1
71087054914. 2
71087054915. 3
71087054916. 4

Question Number : 109 Question Id : 71087013843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2O le= O O leS ol s g

ey S o B

S ®

bl <= (©

S E )

(A) and (D) (2) (A) and (B) (1)
(B) and (C) (4) {A) and (C) (3)

Options :

71087054913. 1
71087054914. 2
71087054915. 3
71087054916. 4

Question Number : 110 Question Id : 71087013844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) HalHHEd ATATS 9id

(B)  AfEst dm

(C) o fa =dis # = 7 321 =

(D)  =m=m

(1) (B) and (C) (2) (A) and (B)
(3) (A) and (D) (4) (C) and (D)

Options :
71087054917. 1
71087054918. 2



71087054919. 3
71087054920. 4

Question Number : 110 Question Id : 71087013844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T

a ¥ o - . = P ™Y
+ e | v | = L1 - . o " )
. — _,;E-ﬂ-' l—_‘:— i _,-:_h [ o~ l-:_vv}:\-'-_h -.-’\-m?__"'- -l

- : \l"l - : =
— L?: =1yl L l_‘:.a (A)

Lo (gias (B

o 3 5 S aw Kw s (©

{A) and (B) (2) (B) and (C) (1)
(C) and (D) (4) {A) and (D) (3)

Options :

71087054917. 1
71087054918. 2
71087054919. 3
71087054920. 4

Question Number : 111 Question Id : 71087013845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(A) FRIT|ITIUA
(B) @i B3 His

(C) A= FA0il A2l v
(D) g el gam

(1) (A) and (B) (2) (A) and (D)
(3) (A) and (C) (4) (B) and (C)
Options :

71087054921. 1
71087054922. 2
71087054923. 3
71087054924. 4

Question Number : 111 Question Id : 71087013845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

{A) and (D) (2) (A) and (B) (1)
(B) and (C) (4) (A) and (C) (3)

Options :
71087054921. 1



71087054922. 2
71087054923. 3
71087054924. 4

Question Number : 112 Question Id : 71087013846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) HTe 0]

(B)  wimisg

(C) 3 = foi =
(D) “HigEaInf=d

(1) (A) and (B) (2) (A) and (C)
(3) {A) and (D) (4) (B) and (C)
Options :

71087054925. 1
71087054926. 2
71087054927. 3
71087054928. 4

Question Number : 112 Question Id : 71087013846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2. % e || ool
i |
Q5o 3,4 (A)
3,5 dnia @
S Dsd e (©
(e '-..r-“ e e e (D)
(A) and (C) (2) (A) and (B) (1)
(B) and (C) (4) {A) and (D) (3)

Options :

71087054925. 1
71087054926. 2
71087054927. 3
71087054928. 4

Question Number : 113 Question Id : 71087013847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(A) T TeEiEH Wi @
(B) T =@ TeArsEn
(C) e
(D) o & 32
(1) (A) and (B) (2) (B) and (C)
(3) (A) and (D) (4) (C) and (D)

Options :
71087054929. 1
71087054930. 2



71087054931. 3
71087054932. 4

Question Number : 113 Question Id : 71087013847 Question Type : MCQ Option Shuffling
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(B) and (C) (2)
(C) and (D) (4)
Options :

71087054929. 1
71087054930. 2
71087054931. 3
71087054932. 4

(A) and (B)
(A) and (D)

: No Display Question Number : Yes Is

Question Number : 114 Question Id : 71087013848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



et = FeTEn AR
(A) =1 qE
(B)  FHe FuEmi
(C)  Fegmn @Arzami
(D)  =hid =i

(1) (A) and (B) (2) (A) and (C)
(3) (B} and (C) (4) (C) and (D)

Options :

71087054933. 1
71087054934. 2
71087054935. 3
71087054936. 4

Question Number : 114 Question Id : 71087013848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—

P A ' C L ] T

St S5 @

J.-'Ij __L-"‘\,L = (B

Ssdlous  ©

FJJL;-L:- S (D)

(A) and (C) (2) (A) and (B) (1)
(C) and (D) (4) (B) and (C) (3)

Options :
71087054933. 1



71087054934. 2
71087054935. 3
71087054936. 4

Question Number : 115 Question Id : 71087013849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Y 1 AFAE F HATE

(A) 2T T AT 3‘;:

(B)  HeAls & 5 AT

(C) =t =1l 51

(D) S A AT

(1) (A) and (D) (2) (A) and (B)
(3) (B) and (C) (4) (C) and (D)
Options :

71087054937. 1
71087054938. 2
71087054939. 3
71087054940. 4

Question Number : 115 Question Id : 71087013849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i) Syl (C)

L s S )

{A) and (B) (2) {A) and (D) (1)
(C) and (D) i4) (B) and (C) (3)

Options :

71087054937. 1
71087054938. 2
71087054939. 3
71087054940. 4

Question Number : 116 Question Id : 71087013850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

() "9 (A) IW
(IT)  =iEw B) T=
(D) =% (C)  Tmm
(IV) = (D) HEw

(1) (I)-(C). (ID-(D). (IIL)-(B). (IV)-(A) (2) (I)-(A), (I1)-(B), (IIT)-(D), (IV)-(C)
(3) (D-(B). (II)-(C). (ILL)-(D), (IV)-(A) (4) (D-(D). {(ID)-(A). (IIL)-(C). (IV)-(B)
Options :
71087054941. 1
71087054942. 2



71087054943. 3
71087054944. 4

Question Number : 116 Question Id : 71087013850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

52 155
e (A) e G (I
Osgs (B ke (D
aly (€ (o (IID)
Jews O J‘z L. @
(I-(A). (ID-(B). (IIL)-(D). (IV)-(C) (2) (D)-(C). (ID)-(D). (III)-(B). tI‘;T]-[Aa (1)

(I)-(D). (IL)-(A). (IID)-(C). (IV)-(B) (4) (D-(B). (I1)-(C), (IIL}-(D). (IV)-(A) (3)

Options :

71087054941. 1
71087054942. 2
71087054943. 3
71087054944. 4

Question Number : 117 Question Id : 71087013851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(D =t e (A) TR A
(II) el 3% 9 6 (B) FeAl TR
(IIT) oo 9l (C) 9 Tl
(IV) =1 59 T (D) = Areamt

(1) (D-(D). (II)-(A), (IID)-(B). (IV)-(C) (2) (D)-(C). (ID-(D). (III)-(A). (IV)-(B)
(3) (D-(A). (ID-(B). (IIL)-(C). (IV)-(D) (4) (I)-(B). (ID-(C), (II)-(D), (IV)-(A)

Options :

71087054945. 1
71087054946. 2
71087054947. 3
71087054948. 4

Question Number : 117 Question Id : 71087013851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s e

Abassd @ S Fss S @
SRS (B) S s 3 S @
Se=ipl © S LBL o
Pl s D) OFES b S @)

(I)-(C). (IL)-(D). (IID)-(A). (IV)-(B) (2) (I)-(D). (II)-(A). (IID-(B). (IV)-(C) (1)
(I)-(B). (I1)-(C). (III)-(D). (IV)-(A) (4) (D)-(A), (ID)-(B). (III)-(C). (IV)-(D) (3)

Options :
71087054945. 1



71087054946. 2
71087054947. 3
71087054948. 4

Question Number : 118 Question Id : 71087013852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(I)  wHHEg TEE (A)  faom

(I)  %=w sAiam (B)  Trami =t
(III)  ARAEYEH SRl (C) =M fay
(IV)  @RY =8 (D) 7= B

(1) (D-(A). (ID-(B), (IID)-(C). (IV)-(D) (2) (D-(B). (ID)-(A). (IID)-(C). (IV)-(D)
(3) (D)-(Dy. dI)-(C). (II1)-(B). (IV)-(A) (4) (I)-(C). (ID)-(D). dID)-(A). (IV)-(B)

Options :

71087054949. 1
71087054950. 2
71087054951. 3
71087054952. 4

Question Number : 118 Question Id : 71087013852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(I)-(B),
(I)-(C).

Options :

;:_:' ;\..._‘.-. (A)

Ky d;.ﬁé (C)
K S o

(I0)-(A), (IID-(C). (IV)-(D) (2)
(ID)-(D), (AID-(A). (TV)-(B) (4)

71087054949. 1
71087054950. 2
71087054951. 3
71087054952. 4

(D-(A), (ID)-(B), (IID)-(C), (IV)-(D)
(D-(D)., (I1)-(C), (IID)-(B). (IV)-(A)

42
(I
(IT)
(I1T)
(Iv)

(1)
(3)

Question Number : 119 Question Id : 71087013853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(I) TF31 Fl (A)

() == 9939 &5 (B)

(ITI) = o= 912 T (C)

IV) =9 I T (D)

(1) (D-(A). (ID)-(B). (II)-(C). (IV)-(D)

(3) (D-(B). (IL)-(C), (II1)-(D). (IV)-(A)
Options :

71087054953. 1

Hifea 5 99 7 &

(2) (I)-(C). (ID-(D). dII)-(B). (IV)-(A)
(4) (D-(D). (ID-(A). (IID-(B). (IV)-(C)



71087054954. 2
71087054955. 3
71087054956. 4

Question Number : 119 Question Id : 71087013853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5% e

Gy Ulan bl ) £S5 9% (D)

J.."f._i 19 80 s =2 B Si=e 8 e 2SS @D

L.f"""' 3 (© Sl ;.:-T,,_,-'—r U&TE;; FOUTIE (11

£ AP el (D) Je 9 & @)

(D-(C). {II‘;-{D:_ 1III]-“tB]_ (IV)-(A) (2) (D-(A), (I)-(B). (IIT)-(C). (IV)-(D) (1)
(D-(D), (IL)-(A), (IIT)-(B). (IV)-(C) (4) (D-(B), (I)-(C), (IIT)-(D), (IV)-(A) (3)

Options :

71087054953. 1
71087054954. 2
71087054955. 3
71087054956. 4

Question Number : 120 Question Id : 71087013854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4" %l iiﬂl o] "':” :

I = (A) @A

(I =3 (B) = w4TH

(III) 9 == (C) T WA (FTH)
(IV) 39 (D) @ T

(1) (D-(D). (I0-(C), (IIT)-(B). (IV)-(A) (2) (D-(B). (ID-(C). (II1)-(D). (IV)-(A)
(3) (D-(C). (ID-(D). {III}-{A}L (IV)-(B) (4) (D-(A). (ID-(B). (IID)-(C). (IV)-(D)

Options :

71087054957. 1
71087054958. 2
71087054959. 3
71087054960. 4

Question Number : 120 Question Id : 71087013854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. r_“\;Lq: |~r_‘.h-

R & L o

L = i Tl |
e —] (A) 8> d (I)
GaliEsEs,l {B) o (1)
(L) EudinSse) (© Ess ey @D
hr‘-"‘-l- o P (I e (IV)

- Fen

(D-(B). (ID)-(C), (III)-(D). (IV)-(A) (2) (D-(D), (ID-(C), (IID)-(B). (IV)-(A) (1)
(D-(A). (ID-(B). (ITIT)-(C). (IV)-(D) (4) (D-(C). (ID-(D), (IID)-(A). (IV)-(B) (3)
Options :

71087054957. 1



71087054958. 2
71087054959. 3
71087054960. 4

Question Number : 121 Question Id : 71087013855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(I g =i A= (A)  TEEEE TEE
(IIy  FenfE 91 &% (B)  \%=d9a AT

(III) 3 =1 &% (C)  THEEE HEW

(IV) fe==ids (D) W 9292 HFeeE 9=

(1) (D-(A), (ID-(D). (II)-(C). OIV)-(B) (2) (D-(D). (ID-(C). (II1)-(B). (IV)-(A)
(3) (D)-(C). (ID-(B). (IID)-(A). (IV)-(D) (4) (D-(B). (ID-(A). (IID)-(D), (IV)-(C)

Options :

71087054961. 1
71087054962. 2
71087054963. 3
71087054964. 4

Question Number : 121 Question Id : 71087013855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



* Lfm " i i
{.'. Lo T O N (A) c.*ﬁ“)um e i (I)

o [ (S = == -
s TR N (B) i g e ()

e el il i L TR £ T

::.- - . Y |
P N B S (C) s 4 1 d  (TH)
L b e - - ] I R |

el agd) dezes b (D) e g B (IV)

(D-(D), (IT)-(C). (III)-(B). (IV)-(A) (2) (D-(A). (ID-(D). (IID)-(C). (IV)-(B) (1)
(D-(B). (I1)-(A). (III)-(D). (IV)-(C) (4) (D-(C). (ID-(B), (IID)-(A). (IV)-(D) (3

Options :

71087054961. 1
71087054962. 2
71087054963. 3
71087054964. 4

Question Number : 122 Question Id : 71087013856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I fEzzmagE (A)  TFIH @ FE
) = Ak g B) T e
(IIT) T = g (C)  wmamE 3 2
(IV) RS ©@ 99 = (D) @AW g =@

(1) (I)-(A). dD)-(B). (IID)-(C). (IV)-(D) (2) (I)-(D). (ID)-(C), ID)-(B). (IV)-(A)
(3) (D-(C). (ID-(D). (IIT)-(A). (IV)-(B) (4) (I)-(B). (II)-(A), (III)-(D}). (IV)-(C)

Options :
71087054965. 1



71087054966. 2
71087054967 3
71087054968. 4

Question Number : 122 Question Id : 71087013856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e s b el e Sl

ol S eSS @ FRASIS O
o o8 Ss ® Js S s S5 @

53 85 bl (© rn bl S

s f J_ET (D) b S s eSS @)

(D)-(D). (IT)-(C). (IID-(B). (IVH-(A) (2) (D-(A). (ID-(B). (IID-(C). (IV)-<(D) (1)
(I)-(B). (IL)-(A). (III)-(D). (IV)-(C) (4) (I)-(C). (ID-(D). (IID)-(A). (IV)-(B) (3
Options :
71087054965. 1
71087054966. 2

71087054967. 3
71087054968. 4

Question Number : 123 Question Id : 71087013857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



J-..f i~ . = :

(I) T Tl (A) el
(II) = fegumit (B) = EiE
(D) == EZami (Cy =m3
(IV)  Tifslg A= (D)

(1) (I)-(A). II)-(B), (III)-(C). (IV)-(D) (2) (D-(B). (II)-(A), (IILD)-(D). (IV)-(C)
(3) (I)-(D). (II)-(C), (IIL)-(B). (IV)-(A) (4) (I)-(C), (ID)-(D), (III)-(A). (IV)-(B)

Options :

71087054969. 1
71087054970. 2
71087054971. 3
71087054972. 4

Question Number : 123 Question Id : 71087013857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s s

CATG 2 lez el (I)
GERd Cus (B Ll g8 @
pssss(0) uc.-'lJ.-.:ﬁ ST 111)

SAF (D) HLans @

(D-(B), (ID-(A), (IID)-(D). (TV)-(C) (2) (D)-(A), (I0)-(B). (IID)-(C), (TV)-(D) (1)
(D-(C), (ID-(D), AID-(A). (TV)-(B) (4) (D-(D), (II)-(C), (IID-(B). (IV)-(A) (3)

Options :
71087054969. 1



71087054970. 2
71087054971. 3
71087054972. 4

Question Number : 124 Question Id : 71087013858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) ICRIIGH (A)  HHE T

(II) 7k F210g (B) ==

(IIT) < =fafr], (C) = E M Fan
(IV)  fifed (D) et g9 21 99

(1) (D-(B). (ID-(A), (IID)-(D). (IV)-(C) (2) (I-(D). (I1)-(C). (IID)-(B). (IV)-(A)
(3) (I)-(C). dD-(B). (IID)-(A). (IV)-(D) (4) (D)-(C). (ID)-(A). (IIT)-(D). (IV)-(B)

Options :

71087054973. 1
71087054974. 2
71087054975. 3
71087054976. 4

Question Number : 124 Question Id : 71087013858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A
el e @A) ooy il (I)
Fof i OadleSs E5e) (i)
Lo -t s L= =
) _5_7;‘_.‘ u{.).:_;l.‘ a ;._c.l J_é.i': (C) 4‘_:'_5_-\_-_5_'-'- f:“_’r_l (III)
39 53 X St (D) Qe @V)
o - b = s — = =

(D-(D), (ID)-(C), (IID-(B). (IV)-(A) (2) (D-(B). (II)-(A), (IID)-(D). (IV)-(C) (1)
(D-(C). (ID-(A), (IIT)-(D), (IV)-(B) (4) (I)-(C). (IL)-(B). (III)-(A). (IV)-(D) (3

Options :

71087054973. 1
71087054974. 2
71087054975. 3
71087054976. 4

Question Number : 125 Question Id : 71087013859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(I)  rwea fEEwe (A)  FEEEH
(II) TS 9HErT (B) T B
(IIT)  Tifslg ATeat (C) 3181 HAgeriear
(IV)  <iTet=g Siaani (D)  Tarior 3% R

(1) (D)-(C). (ID)-(D). (IIL)-(B). (IV)-(A) (2) (D-(D). (I0)-(A). (IIT)-(B). (IV)-(C)
(3) (D-(A). (ID-(B). (III)-(C). (IV)-(D) (4) (I)-(B). (I)-(C). (III)-(D), (IV)-(A)

Options :
71087054977. 1



71087054978. 2
71087054979. 3
71087054980. 4

Question Number : 125 Question Id : 71087013859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

N o
. = et )=

et

b Soa @ Shea JVN @

Jed S S8y, ) ) gl A LY @

Olexy Jdes 93 | (© s Ls @J.-.‘f' (I1T)

S de Oyl D) P CRREESD iy

(I)-(D), ¢II;-+1A}. (IID)-(B). (IV)-(C) (2) (D-(C), (ID)-(D), (IID-(B). (IV)-(A) (1)

(D-(B), (I1)-(C), (IID)-(D). (IV)-(A) (4) (D-(A). (ID-(B). (III)-(C). (IV)-(D) (3)

Options :

71087054977. 1
71087054978. 2
71087054979. 3
71087054980. 4

Question Number : 126 Question Id : 71087013860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T At 3 T 3 S PR AR W § w3 faetet 2 -
(A) =W =B

(B) @iy

(©)  HEs qEie

(D)  Tag® T

(1) (B) (A) (C) (D) (2) (A) (C) (B) (D)
(3) (D) (A) (C) (B) (4) (C) (A) (D) (B)

Options :

71087054981. 1
71087054982. 2
71087054983. 3
71087054984. 4

Question Number : 126 Question Id : 71087013860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

- o I . - ..l-': 2 ..""',I; i 3‘-' ) .',. A ~ er L r :
._{r__n_.p-_L_{r_l».......l»...* oyl uc.‘-- u"'LH Al B LLH;.-‘J hh‘l'—n-:"-ﬂ-"uc-'-‘ B o l...'*-?

(- . G [ R

e &0 (A)
L -

Je3d (B
.,_,‘-.-_ig s PR, (C)

i J
S8 e (D)
(A) (C) (B) (D) (2) (B (A) (C) (D (1)
(C) (A) (D) (B) (4) (D) (4) (C) (B) (3)

Options :
71087054981. 1



71087054982. 2
71087054983. 3
71087054984. 4

Question Number : 127 Question Id : 71087013861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

oy o 372 anE =1 fdtae are
(A)  FeAErE En
(B) @R IR
(C) AR a1
(D) =AW AR

(1) (C) (B) (A) (D) (2) (A (Cy(D) (B)
(3) (C) (A) (B) (D) (4) (B) (C)y (D) (&)
Options :

71087054985. 1
71087054986. 2
71087054987. 3
71087054988. 4

Question Number : 127 Question Id : 71087013861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- | h..ln"_.ﬂ_ (A)
v 95 JU (B)

182 \.,‘J-: |_3| (C)

135 Selby @)
{A) (C)y (D) (B) (2) (C)y(B) (A (D) (1)
(B) (C) (D) (A) (4) (C)(A) (B) (D) (3)

Options :

71087054985. 1
71087054986. 2
71087054987. 3
71087054988. 4

Question Number : 128 Question Id : 71087013862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A) TwifEiEEy
(B)  wimHl aEn
(C)  fagdi At =2
(D) = T @ gl
(1) (B) (A) (D) (C) (2) (B) (C) (A) (D)
(3) (A) (C) (B) (D) (4) (D) (A) (C) (B)

Options :
71087054989. 1



71087054990. 2
71087054991. 3
71087054992. 4

Question Number : 128 Question Id : 71087013862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: - i ' o s
Y- B r.l»...u.,..lu.*-_u.‘l.ua.___LH-L_gJJ ST TR Foriy v SR Y K.
e - ' =t il = EN 4 N | -

o il
Lo o o 12 a—/om (A)

; e - v
She & Sk (O

DR = 2 & (D)

-

(B) (C) (A) (D) (2) (By (A) (Dy(C) (1)

(D) (4) (C) (B) (4) (A) (C) (B) (D) (3)
Options :

71087054989. 1
71087054990. 2
71087054991. 3
71087054992. 4

Question Number : 129 Question Id : 71087013863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TMfeE Al 3 AR FATRE A et aifET

(A)  frEm s

(B) 1= F Tgan T
(C) To=mit g o=
(D)  wifesq 4 W |

(1) (D) (A) (C) (B)
(3) (B) (C) (A) (D)

Options :

71087054993. 1
71087054994. 2
71087054995. 3
71087054996. 4

(2)
(4)

(D) (C) (A) (B)
(D) (B) (C) (A)

Question Number : 129 Question Id : 71087013863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: o Bl - }
ey 4 TR S Porgy SRR b ,‘_*l —~ =
it - - = [ -1

;T a ul'ﬂ - (A)

ULy &= (B

rawS2a SA5 0 (©

e Csd | Zods Q) g (D)

(D) (C) (A) (B) (2) “ (D) (A) (C) (B) (1)
(D) (B) (C) (A) (4) (B) (C) (A) (D) (3)

Options :
71087054993. 1



71087054994. 2
71087054995. 3
71087054996. 4

Question Number : 130 Question Id : 71087013864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AU F IER A e A
(A) TR 3gd FH FfAgia an
(B) 2 AT Waal

(C) g 3fegel =ilF

(D) =T e

(1) (D) (B) (A) (C) (2) (C) (B) (A) (D)
(3) {A) (C) (B) (D) (4) (D) (A) (C) (B)
Options :

71087054997. 1
71087054998. 2
71087054999. 3
71087055000. 4

Question Number : 130 Question Id : 71087013864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Jae ;;al.'::' (D)

(C)(B) (A) (D) (2) (D) (B) (A) (C) (1)
(D) (4) (C) (B) (4) (A) (C) (B) (D) (3)
Options :

71087054997. 1
71087054998. 2
71087054999. 3
71087055000. 4

Question Number : 131 Question Id : 71087013865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wg"':q a" 'ﬂ'[t_]Tl ﬁ mﬂﬁ?’ﬁ '-'5 ri-;:‘ .
(A) ST T W (I8 AAE)

(B) & 9@ W wens (g faeri)
(C) =g ISl Oifmar (399)
(D) aTedl =1 (SaTe SAT)

(1) (C) (B) (D) (A) (2) (A) (B) (C) (D)
(3) (B) (D) (&) (C) (4) (A) (C) (B) (D)

Options :
71087055001. 1
71087055002. 2



71087055003. 3
71087055004. 4

Question Number : 131 Question Id : 71087013865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

[__.._fz.l cl...a.Jl J;I vy e P s (A)
(Nogp)elpem by ®
((sabed) i b BSPHIL, 1D
(L) JLa) e2ed 231 (D)
L - % -E__'__'
(A) (B) (C) (I (2) (C) (B) (D) (A) (1)
(A) (C) (B) (D) (4) (B) (D) (A) (C) (3)

Options :

71087055001. 1
71087055002. 2
71087055003. 3
71087055004. 4

Question Number : 132 Question Id : 71087013866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Al AT 3 AR § aEETEiy | st st
(A)  FmEm

(B) 7t 3Ed

(C) Tl faan oy femm

(D) w=FE T = g

(1) (A) (C) (D) (B) (2) (B) (A) (C) (D)
(3) (C) (D) (B) (A) (4) (D) (B) (A) (C)

Options :

71087055005. 1
71087055006. 2
71087055007. 3
71087055008. 4

Question Number : 132 Question Id : 71087013866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

—_
¥, o : y H Yo 3y |-';'I - y -."l
e L _Hr_L....A.L..a.. e L:.dl._;.n.n.u E{.; - L..-{-:h :_—jl" (53

S Olead jdn @A)

SA2 a2 B

e .Li,;w‘l,fj Sde (O

L> Ol o RE> @)

(B) (A) (C) (D) (2) (A) (C) (D) (B) (1)
(D) (B) (A4) (C) (4) (C) (D) (B) (A) (3)

Options :
71087055005. 1



71087055006. 2
71087055007. 3
71087055008. 4

Question Number : 133 Question Id : 71087013867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) o=l Fela =
(B)  HISme FY
(C)  THME HaWH
(D)  zanm fiEAg

(1) (B) (A) (D) (C) (2) (C) (A) (B) (D)
(3) (D) (C) (A) (B) (4) (A) (C) (B) (D)
Options :

71087055009. 1
71087055010. 2
71087055011. 3
71087055012. 4

Question Number : 133 Question Id : 71087013867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



—
%

# : . 1 X = &t o | L.
_J;_,__.._l._fd......lnﬁ_/r_:_nw..w..u._‘ {-“eﬁuﬁ%

L k =
Jetka Lisie>S (B
_»,|J |JL:~_.4 -.-L.‘Lc#.. ()
\_,!"“"‘_3 ..Jq:. _r,|; l_.': (D)
(C) (A) (B) (D) (2) (B) (&) (D) (C) (1)
(A) (C) (B) (D) i(4) (D) (C) (A) (B) {3)

Options :

71087055009. 1
71087055010. 2
71087055011. 3
71087055012. 4

Question Number : 134 Question Id : 71087013868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R e e T [ 2 o e o O

(A)  Fogm AT

(B)  =fF v=. . ARe

(C) =iz Fim=g Her=g e
(D)  Si9X 32 ZH

(1) (D) (B) (C) (&) (2) (A) (C) (By (D)
(3) (C) (D) (B) (A) (4) (B) (A) (D) (C)
Options :

71087055013. 1



71087055014. 2
71087055015. 3
71087055016. 4

Question Number : 134 Question Id : 71087013868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e A el e o R o~ sl
- - - [ T

o

e

5 Wl oS A
TR = B
b et L
Slicn ) Aoples Aapian JSONS (C)
(A)(C) (By (D) (2) (D) (B) (C) (A) (1)
(B) (A) (D) (C) (4) (C) (D) (B) (A4) (3)

Options :

71087055013. 1
71087055014. 2
71087055015. 3
71087055016. 4

Question Number : 135 Question Id : 71087013869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(A) S EE
(B)  Homd W
(C) 319 Seiie]
(D)  wATmE=H

(1) (B) (A) (D) (C) (2) (A) (C) (B) (D)
(3) (C) (B) (D) (A) (4) (D) (A) (C) (B)
Options :

71087055017. 1
71087055018. 2
71087055019. 3
71087055020. 4

Question Number : 135 Question Id : 71087013869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
D e U sheds 4o sl PN i
i g el (A)
=Y s 2 w (B)
L ] (C)
s Ll o

(A)(C) (B) (D) (2) (B)(A) (D) (C) (1)
(D) (A) (C) (B) (4 (C) (B) (D) (A) (3)
Options :
71087055017. 1
71087055018. 2



71087055019. 3
71087055020. 4

Question Number : 136 Question Id : 71087013870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘.a—"'.l} J.[ ___[ -‘:'EE‘IE

(B)  Hrteae Saami

(1) (A) =19 (B) =& (2) (A) 7@l (B) ==
(3) (A) @&l (B) oA (4) (A) Ted (B) oA
Options :

71087055021. 1
71087055022. 2
71087055023. 3
71087055024. 4

Question Number : 136 Question Id : 71087013870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



st JLs Q)
¥ o ™ -
e dd g B
e (B) e (A) (D) 2o (B) li@A) (D)
- - L -
Lic@® Llé@ @ Lie B) men(d) (3
Options :

71087055021. 1
71087055022. 2
71087055023. 3
71087055024. 4

Question Number : 137 Question Id : 71087013871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hifeed 3TR1=0] 31912 90 A aiE
(A) = I ZaT] "fﬂ?-h-
(B) =i Emumht ‘= =t

(1) (A) @& (B) T&l (2) (A) 7o (B) T&

(3) (A) 971 (B) T4 (4) (A) T4 (B) T

Options :

71087055025. 1
71087055026. 2
71087055027. 3



71087055028. 4

Question Number : 137 Question Id : 71087013871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2l oSS 1yl 3
. e

[ v

1 = R
L —

JL- = L-JL—G Lg{-ll— {J.%.]

‘L._ (5 Mmoo B

o (B)dE (A)  (2) e (B) = (A) (1)
- - L -

LEB L@ @ LIEB) —mea(d) (3
| -

Options :

71087055025. 1
71087055026. 2
71087055027. 3
71087055028. 4

Question Number : 138 Question Id : 71087013872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(A) 1. oI A

(B) =0 TR S

(1) (A) @=1 (B) =& (2) (A) =4 (B) =R
(3) (A) 51 (B) Terd (4) (A) T=1T (B) Teid



Options :

71087055029. 1
71087055030. 2
71087055031. 3
71087055032. 4

Question Number : 138 Question Id : 71087013872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e ,
& " = 'y bd e LR
& h_},-;-lu JLﬂ-agJ;; o (S8

e~
e (B) L2ld (A) (2 = = (B — = (A) (1)
Lid B) Llé () (4) Lle B) ~srw (A) (3)

Options :

71087055029. 1
71087055030. 2
71087055031. 3
71087055032 4

Question Number : 139 Question Id : 71087013873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T A T4 (A): T =@iga # anf St fEmew @ R S 9guess o agE 39 o |
zeftel (R): 399 @ 1AM ® @ 99 1 39l TR 18 |
(1) (A= (R) T (2) (A @@ (R) T
(3) (A) 7= (R) 521 (4) (A) = (R) e

Options :



71087055033. 1
71087055034. 2
71087055035. 3
71087055036. 4

Question Number : 139 Question Id : 71087013873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

: Ey o = x ! R o kb P £ : =
E;.;_‘.-_:-_I* e c_~|;,.3. T & L .._.._LH f{.-_:.. i A e = (A) o= U =2
i I _"-.-l

\_-_-fﬁ s i
b{.p'!‘_l I.,l__’f'LM.u.l _{L?_-_f!l e -:-_,“ - ;,|_5_;. oL EEJ:;' :(R) \_J';._._._."
blé R) e2ew (A) (2) e e (R) s2ews (A) (1)

— e o

Le®mbira @ =so (R) LA (3)

o
Options :

71087055033. 1

71087055034. 2

71087055035. 3

71087055036. 4

Question Number : 140 Question Id : 71087013874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T%F O 99 (A): | U IE WA o GEe F 9 ° 3 I |

7o (R): wsf @ =t fa afz 99 aR |
(1) (A =@ (R) T=A (2) (A= (R)HH
(3) (A) =79 (R) T (4) (A) T (R) 921

Options :



71087055037. 1
71087055038. 2
71087055039. 3
71087055040. 4

Question Number : 140 Question Id : 71087013874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

N

Lol j--’w.;.j_:_.'::'m- g O3 :®) ki
m o (R) more (A)  (2) LIER) mocee (A) (D)
L e L
oo (R) LIE(A) @) LI (R) L&) (3)
L -
Options :
71087055037. 1
71087055038. 2
71087055039. 3
71087055040. 4
Sub-Section Number : 2
Sub-Section Id : 710870467
Question Shuffling Allowed : Yes

Question Id : 71087013875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



29 71 gare 91 =i 95 A% T =

S A % R A F T S U o AfEen, W o | FE A A 9w we o e | W i
79 7 WEE G R < 99 B R | T Afaes o el e W= e 9w A e @ e =
T F I | W TR T A wrS wy o anfef ¥ wig anfef ) wman @ R G A R A
A2 | 74 2l U Fig AR | 7Y FE AR

o7 fadi T IRf 3 9 gom wafa g v off aw | fafwgh o f@h gt e 6 @ o) om G
ifEs Tt T < s § 9 Gl @ T 39 g @ O A gl TeeEn 9n s S S ifEm
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a1 ot gre 7=l e st fafagia = aveng fel o = foefl Jiefl a9 Tear | A geEEm @i wfEs
ol Fiefian  weerEt, 7 1 9o Fg 7= Atas 91

Sub questions

Question Number : 141 Question Id : 71087013876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T T FE AT S = S R e anfaiy

(1) o9 Afeem (2) T2 A
(3)  zw fEEm (4)  TEEm

Options :

71087055041. 1
71087055042. 2
71087055043. 3
71087055044. 4

Question Number : 142 Question Id : 71087013877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

(1) qY] Rl feH (2) % T Figa F9 @
(3) A TFEER 3EH (4) el HIUR A1z

Options :

71087055045. 1
71087055046. 2
71087055047. 3
71087055048. 4

Question Number : 143 Question Id : 71087013878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ERIERECIEREC T i

(1) Tt =1 T AEA (2) AR = T e
(3) TR OO T aTfEf (4) itz offar gar 9=1f3

Options :

71087055049. 1
71087055050. 2
71087055051. 3
71087055052. 4

Question Number : 144 Question Id : 71087013879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TOedl FTeil TeEE W A= Al
(1 T T AT (2) A=A i e e

(3) TEEHI #2 (4) =i w1 AR



Options :

71087055053. 1
71087055054. 2
71087055055. 3
71087055056. 4

Question Number : 145 Question Id : 71087013880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) =13 93 =i 5= 301 = (2) Tz = 3o
(3)  Tordt gidt 991 R (4) Tgv] THIE T4T
Options :

71087055057. 1
71087055058. 2
71087055059. 3
71087055060. 4

Question Id : 71087013875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087013876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055041. 1
71087055042. 2
71087055043. 3
71087055044. 4

Question Number : 142 Question Id : 71087013877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Al el O OIS,
A e T o b PR (2) P78 ) s G (1)
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-] sarle Mo (4) Al I3lie e (3)

e - e ” H-

Options :

71087055045. 1
71087055046. 2
71087055047. 3
71087055048. 4

Question Number : 143 Question Id : 71087013878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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sy oy Ly (4) ol lasy sks 375 (3)
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Options :

71087055049. 1
71087055050. 2
71087055051. 3
71087055052. 4

Question Number : 144 Question Id : 71087013879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 | “'r BN AR 1
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| Lay e has (2) A pda yop (1)
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Options :

71087055053. 1
71087055054. 2
71087055055. 3
71087055056. 4

Question Number : 145 Question Id : 71087013880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055057. 1
71087055058. 2
71087055059. 3
71087055060. 4

Sub-Section Number : 3
Sub-Section Id : 710870468
Question Shuffling Allowed : Yes

Question Id : 71087013881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087013882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(1) eI (2) et
(3)  #EH 4
Options :

71087055061. 1
71087055062. 2
71087055063. 3
71087055064. 4

Question Number : 147 Question Id : 71087013883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TRl FG I & FEE
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Options :

71087055065. 1
71087055066. 2
71087055067. 3
71087055068. 4

Question Number : 148 Question Id : 71087013884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) AR (2) a1 i
(3) =9 9t (4) T T30 A THAT FHA

Options :



71087055069. 1
71087055070. 2
71087055071. 3
71087055072. 4

Question Number : 149 Question Id : 71087013885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055073. 1
71087055074. 2
71087055075. 3
71087055076. 4

Question Number : 150 Question Id : 71087013886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1) f= (2) TN
(3) e (4 4
Options :

71087055077. 1
71087055078. 2
71087055079. 3
71087055080. 4

Question Id : 71087013881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087013882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055061. 1
71087055062. 2
71087055063. 3
71087055064. 4



Question Number : 147 Question Id : 71087013883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055065. 1
71087055066. 2
71087055067. 3
71087055068. 4

Question Number : 148 Question Id : 71087013884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055069. 1
71087055070. 2
71087055071. 3
71087055072. 4

Question Number : 149 Question Id : 71087013885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055073. 1
71087055074. 2
71087055075. 3
71087055076. 4

Question Number : 150 Question Id : 71087013886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055077. 1
71087055078. 2
71087055079. 3
71087055080. 4



